

## SECTION 5.1

### FUNDAMENTAL TRIG IDENTITIES

#### • RECIPROCAL IDENTITIES

$$\sin \theta = \frac{1}{\csc \theta} \quad \cos \theta = \frac{1}{\sec \theta} \quad \tan \theta = \frac{1}{\cot \theta}$$

$$\csc \theta = \frac{1}{\sin \theta} \quad \sec \theta = \frac{1}{\cos \theta} \quad \cot \theta = \frac{1}{\tan \theta}$$

#### • QUOTIENT IDENTITIES

$$\tan \theta = \frac{\sin \theta}{\cos \theta} \quad \cot \theta = \frac{\cos \theta}{\sin \theta}$$

#### • PYTHAGOREAN IDENTITIES

$$\cos^2 \theta + \sin^2 \theta = 1 \quad \tan^2 \theta + 1 = \sec^2 \theta \quad \cot^2 \theta + 1 = \csc^2 \theta$$

#### • EVEN/ODD IDENTITIES

$$\sin(-\theta) = -\sin(\theta) \quad \cos(-\theta) = \cos(\theta) \quad \tan(-\theta) = -\tan(\theta)$$

$$\csc(-\theta) = -\csc(\theta) \quad \sec(-\theta) = \sec(\theta) \quad \cot(-\theta) = -\cot(\theta)$$

### TECHNIQUES FOR VERIFYING TRIG IDENTITIES:

- WORK WITH EACH SIDE INDEPENDENTLY
- ANALYZE THE IDENTITY AND LOOK FOR WAYS TO APPLY FUNDAMENTAL IDENTITIES.
- REWRITE IN TERMS OF SINES & COSINES
- FACTOR OUT THE GREATEST COMMON FACTOR
- SEPARATE OR COMBINE FRACTIONS,  $\frac{a+b}{c} = \frac{a}{c} + \frac{b}{c}$ .
- REWRITE FRACTIONS W/ LEAST COMMON DENOMINATOR
- DON'T BE AFRAID TO STOP AND START OVER.

$$\text{Ex } \cos \theta \tan \theta \csc \theta = \left( \frac{\cancel{\cos \theta}}{1} \right) \left( \frac{\cancel{\sin \theta}}{\cancel{\cos \theta}} \right) \left( \frac{1}{\cancel{\sin \theta}} \right) \quad (\text{QUOTIENT/RECIPROCAL IDENTITIES})$$
$$= 1$$

$$\text{Ex } \cos^2 \theta - \sin^2 \theta = \cos^2 \theta - (1 - \cos^2 \theta) \quad (\text{PYTHAG } \sin^2 + \cos^2 = 1)$$
$$= \cos^2 \theta - 1 + \cos^2 \theta$$
$$= 2\cos^2 \theta - 1$$

$$\begin{aligned}
 \text{Ex } \csc \theta - \sin \theta &= \frac{1}{\sin \theta} - \sin \theta \\
 &= \frac{1}{\sin \theta} - \frac{\sin^2 \theta}{\sin \theta} \\
 &= \frac{1 - \sin^2 \theta}{\sin \theta} \\
 &= \frac{\cos^2 \theta}{\sin \theta} && \text{(PYTHAGOREAN IDENTITY)} \\
 &= \left( \frac{\cos \theta}{\sin \theta} \right) \cos \theta \\
 &= \cot \theta \cos \theta && \text{(QUOTIENT IDENTITY)}
 \end{aligned}$$

$$\begin{aligned}
 \text{Ex } \frac{1 + \cos t}{1 - \cos t} &= \frac{1 + \cos t}{1 - \cos t} \left( \frac{1 + \cos t}{1 + \cos t} \right) \\
 &= \frac{(1 + \cos t)^2}{1 - \cos^2 t} \\
 &= \frac{(1 + \cos t)^2}{\sin^2 t} && \text{(PYTHAGOREAN IDENTITY)} \\
 &= \left( \frac{1 + \cos t}{\sin t} \right)^2 \\
 &= \left( \frac{1}{\sin t} + \frac{\cos t}{\sin t} \right)^2 \\
 &= (\csc t + \cot t)^2 && \text{(RECIPROCAL / QUOTIENT IDENTITIES)}
 \end{aligned}$$

$$\begin{aligned}
 \text{Ex } (\cos \theta - \sin \theta)^2 + (\cos \theta + \sin \theta)^2 &= \cos^2 \theta - 2\cos \theta \sin \theta + \sin^2 \theta + \cos^2 \theta + 2\cos \theta \sin \theta + \sin^2 \theta \\
 &= 2\cos^2 \theta + 2\sin^2 \theta \\
 &= 2(\cos^2 \theta + \sin^2 \theta) \\
 &= 2 && \text{(PYTHAGOREAN IDENTITY)}
 \end{aligned}$$

$$\begin{aligned}
 \text{Ex } \frac{\cos^2 x - \sin^2 x}{1 - \tan^2 x} &= \frac{\cos^2 x - \sin^2 x}{1 - \sin^2 x / \cos^2 x} && \text{(QUOTIENT IDENT)} \\
 &= \frac{\cos^2 x}{\cos^2 x} \left( \frac{\cos^2 x - \sin^2 x}{1 - \sin^2 x / \cos^2 x} \right) \\
 &= \cos^2 x \left( \frac{\cos^2 x - \sin^2 x}{\cos^2 x - \sin^2 x} \right) \\
 &= \cos^2 x
 \end{aligned}$$